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6HJDOD� SXML� GDQ� V\XNXU� DWDV� NHKDGLUDW� $OODK� 6:7�� NDUHQD� DWDV� VHJDOD�

OLPSDKDQ�UDKPDW��KLGD\DK��NDUXQLD��VHUWD�SHWXQMXN�1\D��VD\D�GDSDW�PHQ\HOHVDLNDQ�

WXJDV�DNKLU�LQL��6D\D�MXJD�PHQJXFDSNDQ�WHULPD�NDVLK�XQWXN�VHPXD�SLKDN�\DQJ�WHODK�

PHPEDQWX�� PHQGXNXQJ� GDQ� PHQGRDNDQ� VD\D�� 6D\D� PHQJXFDSNDQ� WHULPD� NDVLK�

NHSDGD�

�� $OODK� 6:7� \DQJ� WHODK� PHOLPSDKNDQ� NDUXQLD�� UDKPDW�� GDQ� KLGD\DK�1\D��

6HEDLN�± EDLNQ\D�SHQRORQJ�GDQ�SHQGHQJDU�GRD�VD\D�NHWLND�PHQJKDGDSL�VXND�

GXND�GDODP�PHQ\HOHVDLNDQ� WXJDV� DNKLU� LQL��$OKDPGXOLOODK� WXJDV� DNKLU� LQL�

WLGDN�DNDQ�VHOHVDL�WDQSD�SHUWRORQJDQ�1\D�

�� ,EX GDQ� .DNDN� .DNDN� VD\D� \DQJ VHODOX PHQGRDNDQ� VD\D� GLVHWLDS� GRD�

PHUHND��PHQ\HPDQJDWL� VD\D� GLVHWLDS�ZDNWX�� GDQ�PHQJDMDUL� VD\D WHQWDQJ�

NHVDEDUDQ��EHNHUMD�NHUDV��VHUWD�EHUWDQJJXQJ�MDZDE� VHPRJD�PHUHND�VHODOX�

GDODP�UDKPDW�GDQ�OLQGXQJDQ�$OODK�6:7�

�� %DSDN�0XKDPPDG�$U\�0XUWL VHEDJDL�SHPELPELQJ�,�\DQJ�WHODK�PHOXDQJNDQ�

ZDNWXQ\D�XQWXN�PHPEHULNDQ�ELPELQJDQ��VDUDQ��GDQ�NULWLN�\DQJ�PHPEDQJXQ

VHODPD�SHQJHUMDDQ�WXJDV�DNKLU�LQL��VHPRJD�EDSDN�GDQ�NHOXDUJD�VHODOX�GDODP�

UDKPDW�$OODK�6:7�

�� %DSDN�5DPGKDQ�1XJUDKD�VHEDJDL�SHPELPELQJ�,,�\DQJ�WHODK�PHOXDQJNDQ�

ZDNWXQ\D�XQWXN�PHPEHULNDQ�ELPELQJDQ��VDUDQ��GDQ�NULWLN�\DQJ�PHPEDQJXQ�

VHODPD�SHQJHUMDDQ�WXJDV�DNKLU�LQL��VHPRJD�EDSDN�GDQ�NHOXDUJD�VHODOX�GDODP�

UDKPDW�$OODK�6:7�

�� 3DFDU�WHUFLQWD�)HUHQ�1DWDV\D \DQJ�VHODOX�PHPEHULNDQ�VHPDQJDW��PRWLYDVL�

GDQ�QDVLKDW GDODP�SHQJHUMDDQ� WXJDV�DNKLU� LQL�� VHPRJD�\DQJ�GLVHPRJDNDQ�

WHUFDSDL�

�� 6DKDEDW� 6HMDWL� $QGL� 5XGKL� $GKL� 6� \DQJ VHODOX� PHPEDQWX� GDODP�

PHPLQMDPNDQ�ODSWRS�XQWXN�PHQJHUMDNDQ�7$�GDODP�NXUXQ�ZDNWX���VHPHVWHU�

\DQJ� PHPEDQWX� PHQVXNVHVNDQ� SHQJHUMDDQ� WXJDV� DNKLU� LQL�VHPRJD� \DQJ�

GLVHPRJDNDQ�WHUFDSDL�

�� .DNDN� $ULILQ� )DMDU�&KHU\O� GDQ� 3ULWWD� $QJJUDHQL� $QLQG\DVDUL� \DQJ� WHODK�

PHQMDGL�SHPELPELQJ�ED\DQJDQ�GDODP�PHPEDQWX�SHQJHUMDDQ�7XJDV�DNKLU�

VD\D��6HPRJD�\DQJ�GLVHPRJDNDQ�WHUFDSDL��
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�� 6DKDEDW� :LVPR\R�)DL]�1DQGR�%HQH�%LOO�+DILG� \DQJ� VHODOX� PDX�

PHQDPSXQJ� VD\D�PHPEHULNDQ� PRWLYDVL�QDVHKDW�GDQ� WHPSDW� WLQJJDO� \DQJ�

OD\DN�WHULPD�NDVLK�DWDV�NHQDQJDQ�LQGDKQ\D��

�� 6DKDEDW� -XVW� IRU� IXQ� VHEXDK� NHOXDUJD� \DQJ VHODOX�

PHQMDJD�PHQGXNXQJ�PHQJKLEXU�GDQ�PHPEDQWX�VD\D��VHPRJD�$OODK�6:7�

PHPEHULNDQ�UDKPDW�GDQ�SHWXQMXN�1<$�

��� 7HPDQ�WHPDQ� (/������� VHEXDK� NHOXDUJD EHVDU� \DQJ� EDQ\DN� PHPEDQWX�

VD\D�GDODP�NXOLDK��VHPRJD�$OODK�6:7�PHPEHULNDQ�UDKPDW�GDQ�SHWXQMXN�

1<$�

��� 7HPDQ�WHPDQ� GL� /DERUDWRULXP� (,55* \DQJ� WHODK� EHUEDJL� LOPX��

SHQJDODPDQ�WHPSDW� WLQJJDO� GDQ� WHPSDW� EHUVXVDK� SD\DK� GDODP� PHQJHMDU�

XSD\D�GDQ�WDUJHW��VHPRJD�LOPX�\DQJ�GLGDSDW�EHUPDQIDDW�GDQ�(,55* VHODOX�

PDMX�GDQ�EHULQRYDVL�

��� 6HOXUXK� WHPDQ�WHPDQ� NHOXDUJD� PDKDVLVZD� WHNQLN� HOHNWUR \DQJ� WHODK

PHPEHULNDQ� EDQ\DN� SHQJDODPDQ� GDQ� VHODOX EHUMXDQJ EHUVDPD�VDPD� GL�

8QLYHUVLWDV�7HONRP��VHPRJD�SHUWHPDQDQ�LQL�PHQMDGL�SHUWHPDQDQ�\DQJ�WDN�

VXUXW�GLPDNDQ�ZDNWX�GDQ�\DQJ�GLULGKRL�ROHK�7XKDQ�<DQJ�0DKD�.XDVD�

��� 6HOXUXK�FLYLWDV�DNDGHPLND�8QLYHUVLWDV�7HONRP�DWDV�VHJDOD�EDQWXDQQ\D�GDQ�

SLKDN±SLKDN�ODLQ�\DQJ�WXUXW�WHUOLEDW�ODQJVXQJ�PDXSXQ�WLGDN�ODQJVXQJ�GDODP�

SHQ\HOHVDLDQ� 7XJDV� $NKLU� LQL�� VHPRJD� $OODK� PHPEDODV� NDOLDQ� VHPXD�

GHQJDQ�UDKPDW�GDQ�NDUXQLD�1\D�

6HPRJD�$OODK�6:7�PHPEDODV�EXGL�EDLN�VHPXD�SLKDN�\DQJ�WHODK�PHPEDQWX�

GDODP�SHQ\HOHVDLDQ�7XJDV�$NKLU�LQL��$DPLLQ�\D�5DEEDO�$ODPLQ�


